X = Distance to flanking inlet in sag vertical curve locations using depth at curb criteria (m).

(Sk‘:s;% 30 40 50 60 70 80 9 | 100 | 110 | 120
d9 K6 4 8 12 18 | 25 | 32 | 40 51 62 73
0.03 49 | 69 | 85 | 104 | 122 | 139 | 155 | 175 | 193 | 268
0.06 69 | 98 | 120 | 147 | 173 | 196 | 219 | 247 | 27.3 | 206
0.09 85 | 120 | 147 | 180 | 212 | 240 | 268 | 303 | 334 | 36.2
0.12 98 | 139 | 170 | 208 | 245 | 277 | 310 | 350 | 386 | 419
0.15 110 | 155 | 190 | 232 | 274 | 310 | 346 | 391 | 431 | 468
0.18 120 | 170 | 208 | 255 | 300 | 339 | 379 | 428 | 472 | 513
0.21 130 | 183 | 224 | 275 | 324 | 367 | 410 | 463 | 510 | 554
0.24 139 | 196 | 240 | 294 | 346 | 302 | 438 | 495 | 546 | 592
NOTES: 1. x = (200dK)®%, where x = distance from the low point to flanking inlet, m

2. Drainage maximum K =51 (m/% A) for curbed facilities

3. d =depth at curb, m
Where:

4. K=L/A

L = Length of vertical curve, m

A = Algebraic difference in approach grades,%

Reference: HEC 12 (modified)

Example Problem 36-10.3 (Flanking Inlet At Sag Point
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